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ED–2011 

B. Com. (Part I/II/III) EXAMINATION, 2021 

ENVIRONMENTAL STUDIES AND HUMAN RIGHTS 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh iz’u vfuok;Z gSA iz’u Øekad 1 ij 25 vad o ‘ks”k 

izR;sd ij 10 vad gSA 

 All questions are compulsory. Question No. 1 carries 

25 marks and rest of the questions carry 10 marks 

each. 

1- fuEufyf[kr esa ls fdUgha ik¡p ij laf{kIr fVIif.k;k¡ fyf[k,A 

(i) ÅtkZ izokg 

(ii) ck<+ 

(iii) Hkw&L[kyu 

(iv) [kk| Ükà[kyk 

(v) /ofu iznw”k.k 

(vi) ekuo vf/kdkj laj{k.k 

(vii) vEy&o”kkZ 

(viii) oU;&izk.kh f’kdkj 
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Write short note on any five of the following : 

(i) Energy flow 

(ii) Floods 

(iii) Land-slides 

(iv) Food chain 

(v) Noise pollution 

(vi) Protection of Human Rights 

(vii) Acid Rain 

(viii) Poaching of wild animals 

bdkbZ&1 

(UNIT—1) 

2- ty lalk/ku ij fucU/k fyf[k,A 

Write an essay on Water Resources. 

vFkok 

(Or) 

vk/kqfud Ñf”k ds D;k izHkko gS \ foLrkj ls le>kb,A 

What are the effects of modern agriculture ? Describe 

elaborately. 

bdkbZ&2 

(UNIT—2) 

3- tyh; ikfjfLFkfrd ra= ij fucU/k fyf[k,A 

Write any essay on aquatic ecosystem. 

vFkok 

(Or) 

tSo&fofo/krk ij izdk’k Mkyrs gq, foLrkj ls blds egRo dks 

le>kb,A 
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Describe the importance of Biodiversity highlighting it. 

bdkbZ&3 

(UNIT—3) 

4- Bksl vif’k”V izcU/ku ij ys[k fy[fk,A 

Write an essay on solid waste management. 

vFkok 

(Or) 

ßc<+rh ekuo tula[;k] la/kkfjr fodkl esa vojks/k mRiUu dj 

jgh gSAÞ bl okD; dks izekf.kr dhft,A 

“Increasing Human population is creating bordle in 

sustainable development.” Verify this statement. 

bdkbZ&4 

(UNIT—4) 

5- ekuo vf/kdkj ds vFkZ ,oa izdkj dks foLr`r :i ls le>kb,A 

Describe elaborately the meaning and kinds of Human 

Rights. 

vFkok 

(Or) 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) efgykvksa ds izfr HksnHkko fujkdj.k gsrq mik; 

(ii) cky vf/kdkj le>kSrk 

Write short notes on the following : 

(i) Measures for elimination of discrimination against 

women 
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(ii) Convention on child Rights. 

bdkbZ&5 

(UNIT—5) 

6- Hkkjrh; lafo/kku ds varxZr fn;s x;s ekSfyd vf/kdkj ij ys[k 

fyf[k,A 

Write an essay on fundamental rights under the 

constitution of India. 

vFkok 

(Or) 

ekuo vf/kdkj fdl izdkj Hkkjr esa ykxw fd;s x;s \ la{ksi esa 

le>kb,A 

How Human Rights enforcement was done in India. 

Explain briefly. 
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ED-2021
B.Com. (Part-II)

EXAMINATION, 2021
(Foundation Course)

HINDI LANGUAGE

(Paper First)
Time :  3 hrs.] [M.M. : 75

uksVµ lHkh iz'u vfuok;Z gSaA

Attempt all the questions. 

1. ¼d½ pksjh vkSj izk;f'pr ds laca/k esa xk¡/kh th ds fopkj ij izdk'k
Mkfy,A 8

vFkok

izk;f'pr ls D;k vk'k; gS\ izk;f'pr djus ds fy, xk¡/kh th us
dkSu&lk jkLrk pquk\

¼[k½ ifji=k dk vk'k; le>krs gq, ifji=k dk uewuk izLrqr dhft;sA

vFkok

foKkiu dh Hkk"kk le>krs gq, blds Lo:i dks Li"V dhft,A 7

2. ¼d½ ^uo;qod Hkkoh Hkfo"; ds fuekZ.k gsrq vkyksd LiEHk gS* bl
dFku dh O;k[;k dhft,A

¼[k½ foÙk dh Hkk"kk dks le>krs gq, foÙk ds egÙo dks le>kb,A

vFkok

tulapkj esa bUVjusV dh D;k Hkwfedk gS\ Li"V dhft,A
3. ¼d½ ekrH̀kwfe fuca/k dks lkjxfHkZr :i esa izLrqr dhft,A 8

vFkok

ekrH̀kwfe fuca/k ds vk/kkj ij Hkkjr Hkwfe dh fo'ks"krkvksa ij
izdk'k Mkfy,A

¼[k½ laKk dks ifjHkkf"kr djrs gq, mlds Hksnksa dk mYys[k dhft,A 7

vFkok

fo'ks"k.k dh ifjHkk"kk le>krs gq, blds Lo:i dks mnkgj.k
lfgr fyf[k,A

4. ¼d½ MkW0 [kwcpan c?ksy ds egÙoiw.kZ dk;ks± dks js[kkafdr dhft,A 8

vFkok

MkW0 [kwcpan c?ksy ds O;fDrÙo ij izdk'k Mkfy,A
¼[k½ lekl fd;s dgrs gSa\ blds fofHkUu izdkjksa dk o.kZu dhft,A 7

vFkok

fuEufyf[kr dk laf/k foPNsn dj uke crkb,µ ¼dksbZ lkr½

(i) lw;ksZn;

(ii) ln~ok.kh

(iii) mðkj

(iv) fu'p;

(v) fujksx
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(vi) nso£"k

(vii) jktkKk

(viii) dohUnzA
5. ¼d½ ^lEHkk"k.k dq'kyrk* fuca/k dk lkjx£Hkr ewY;kadu dhft,A 8

vFkok

ek/kojko lizs th ds vuqlkj laHkk"k.k djrs le; fdu&fdu
ckrksa ls cpuk pkfg,\

¼[k½ ,d vPNs vuqoknd dh fo'ks"krk le>kb,A 7

vFkok

fuEufyf[kr laf{kfIr;ksa dk ewy :i fyf[k,µ ¼dksbZ lkr½

(i) Hksy

(ii) gLrka

(iii) ih-,l-lh-

(iv) yks-l-

(v) ih,p&Mh-

(vi) vk-tk-d-fo-

(vii) jklqdk

(viii) bXuwA
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ED–2022 

B. Com. (Part II) EXAMINATION, 2021 

(Foundation Course) 

Paper Second 

ENGLISH LANGUAGE 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 26 

Note : Attempt all questions. 

1. (A) Answer any three of the following questions : 15 

(i) What may be the reason for science to prey 

upon the poets heart ? 

(ii) What do you mean by the phrase “All men are 

scientists” ? 

(iii) What is information technology ? 

(iv) Which situation is worse than illiteracy ? 

(v) Who persuaded Ramanujan to get in touch 

with Prof. C. H. theory ? 
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Unit—II 

2. (A) Read the following passage carefully and answer the 

questions given below : 5 

The most important feature of the Indian climate is 

the monsoon, or “The Rains”, Except along the west 

coast, and in parts of cyclone, rain rarely falls from 

october to may, when cultivation can only be carried 

on by irrigation. By the end of April growth has 

practically ceased. the temperature of the plain rises 

as high as 110°F or over, and an intensely hot wind 

blows. Trees shed their leaves, grass is almost 

completely parches, mild animals of ten die in large 

numbers for want to water work is reduced to a 

minimum, and the word seems asleep.  

Questions : 

(i) What is the most important feature of Indian  

climate ? 

(ii) How is the winter crop raised in most of  

India ? 

(iii) How does the suffer heat effort the vegetation, 

animals and human beings ? 

(iv) What is the temper in the plains ? 

(v) Suggest a suitable title to the above passage. 

(B) Give antonyms of (any five) of the following : 5 

(i) eternal 

(ii) prosperity 

(iii) alien 

(iv) rapid 

(v) important  
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(vi) huge 

(C) Provide synonyms (any five) of the following : 2 

(i) imitate 

(ii) arrangement 

(iii) ordinary 

(iv) contribute 

(v) stream 

(vi) sorrow 

3. Write are part on any one of the following topics in about 

150 words :  10 

(i) NSS camp 

(ii) Oath taking ceremony of your college 

(iii) Annual function organized by your college. 

4. Explain the idea (any one) 150 words : 10 

(i) Honesty is the best policy 

(ii) Unity is strength 

(iii) Knowledge is power 

5. Do as directed (any twenty five) : 25 

(A) Insert articles in the blank : 

(i)  Is there ............ FM radio channel in your 

city ? 

(ii)  He is ........... Bradman of Indian cricket. 

(iii)  There is a fly in ............ Lemonade. 

(iv)  Vinay is .......... engineer. 
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(v)  Calcutta is .............. largest city of India 

(B) Fill in the blanks spaces with suitable prepositions : 

(vi)  They arrive late ........... the airport. 

(vii)  There is mark .............. your shirt. 

(viii)  .............. their advice I applied for the job. 

(ix)  Prachi turned her back ............... us. 

(x)  Is the television still .......... guarantee ? 

(C) Fill in the blanks with conjuction : 

(xi)  Prachi ............ I left early. 

(xii)  I had no choice ............. to sign the contract. 

(xiii)  She says she cannot decide wether to marry 

............... him. 

(xiv)  Maruti is a small car ........ it is surprisingly 

spacious. 

(xv)  She not only wrote the text ............. 

selection the illustrations. 

(D) Put the following sentences in passive forms : 

(xvi)  Animals cannot make tools. 

(xvii) Mannars make character. 

(xviii) They kept as waiting. 

(xix)  Put this picture on the wall. 

(xx)  Our team scored one goal. 

(E) Fill in the blanks with „modals : 

(xxi)  We ........ aim at noble goals. (desirability) 

(xxii) How ......... you insult him ?  

(presence of course) 

(xxiii) They .......slowly accept two offer. 
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 (willingness) 

(xxiv) Its rainy. I ........... take my rain coat. 

 (compulsion) 

(xxv)  You ......... leave the office early today. 

 (permission) 

(F) Fill in the blanks with self forms : 

(xxvi) I was given this award by the king ........ 

(xxvii) They found ............ in great difficulty. 

(xxviii) I will clean the room ....... 

(xxix) Why is Dith sitting in that corner all  

by .......... ? 

(xxx)  Have we got to do this work all by ........ ? 
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ED–2023 

B. Com. (Part II) EXAMINATION, 2021 

(Group—I : Compulsory) 

Paper First  

CORPORATE ACCOUNTING  

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- 31 ekpZ] 2020 dks vafdr fy- dk fpëk fuEukuqlkj gS % 

fooj.k 
fVIi.kh 

la- 

jkf’k  

¼`½ 

I lerk ,oa nkf;Ro %   

  ¼1½ va’k/kkfj;kas dks dks”k   

     ¼d½ va’k iw¡th 1. 70,00,000 
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     ¼[k½ lap; ,oa vfrjsd 2. 28,00,000 

  ¼2½ pkyw nkf;Ro   

O;kikfjd ns;  6,00,000 

  1,00 4,00,000 

II lEifŸk;k¡ %   

   ¼1½ xSj&pkyw lEifŸk;k¡   

      LFkk;h lEifŸk;k¡   

      ewrZ lEifŸk;k¡   

Hkwfe ,oa Hkou  35,00,000 

Iyk.V ,oa e’khujh  20,00,000 

   ¼2½ pkyw lEifŸk;k¡   

jgfr;k  2,00,00,000 

O;kikfjd izkI; ¼nsunkj½  15,00,000 

jksdM+ vkSj jksdM+ rqY;  14,00,000 

  1,04,00,000 

ys[kk lEcU/kh fVIi.kh % 

 
fooj.k 

jkf’k  

¼`½ 

1. va’k iw¡th %  

 fuxZfer] vfHknŸk ,oa ;kfpr %  

 20000, 10% ‘kks/kuh; iwokZf/kdkj va’k ` 100 

izfr va’k 

20,00,000 

 50000 lerk va’k ` 100 izfr va’k 50,00,000 

  70,00,000 
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2. lap; ,oa vfrjsd  

 izfrHkwfr izC;kft 2,00,000 

 lkekU; lap; 16,00,000 

 ykHk&gkfu fooj.k i= 10,00,000 

  28,00,000 

3. jksdM+ vkSj jksdM+  rqY;  

 cSad eas jksdM+ 14,00,000 

  14,00,000 

1 vizSy] 2020 dks ‘kks/; iwokZf/kdkj va’kksa dk 10% izhfe;e ij 

‘kksf/kr fd;k x;kA bls gsrq lapkydksa us ` 100 okys ` 

10,00,000 ds lerk va’kksa dk 15% izhfe;e ij fuxZeu djus 

dk fu.kZ; fy;kA  

mi;qZDr O;ogkjksa dk ys[kk djus ds fy, dEiuh dh [kkrkcgh esa 

vko’;d [kkrs [kksfy, rFkk ‘kks/ku ds i’pkr~ dEiuh dk 

ifjofrZr fpëk cukb,A 

The following is the Balance Sheet of Ankit Ltd. as on 

31st March, 2020 : 

Particulars  
Note 

No. 

Amount 

(`) 

I. Equity and Liabilities :   

   (1) Shareholder’s Funds   

         (a) Share Capital 1. 70,00,000 

         (b) Reserves and Surplus 2. 28,00,000 

    (2) Current Liabilities   

Trade Payables  6,00,000 

  1,04,00,000 
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II Assets :   

    (1) Non-Current Assets    

          Fixed Assets    

          Tangible Assets   

Land and Building   35,00,000 

Plant and Machinery  20,00,000 

     (2) Current Assets    

Inventories   2,00,00,000 

Trade Receivables (Debtors)  15,00,000 

Cash and Cash Equivalent   14,00,000 

  1,04,00,000 

Notes to accounts : 

 
fooj.k 

jkf’k  

¼`½ 

1. Share Capital :  

 Issued, subscribed and called up :  

 20000, 10% redeemable preference 

shares of ` 100 each 

20,00,000 

 50000 equity shares of ` 100 each 50,00,000 

  70,00,000 

2. Reserve and Surplus   

 Securities Premium 2,00,000 

 General Reserve  16,00,000 

 Statement of Profit and Loss 10,00,000 

  28,00,000 

3. Cash and Cash Equivalent   

 Cash at bank  14,00,000 

  14,00,000 
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On 1st April, 2020 the preference shares were redeemed 

at a premium of 10% for this purpose the directors 

decided to issue ` 100 equity shares of ` 10,00,000 at a 

premium of 15%.  

Show the necessary ledger accounts to record the above 

transactions and draw up the Balance Sheet after the 

redemption.  

vFkok 

(Or) 

_.ki= ls vki D;k le>rs gSa \ blds fofHkUu izdkj crkb;s 

rFkk blds ‘kks/ku ds fofHkUu rjhds crkb;sA  

What do you mean by Debenture ? Mention their various 

types and give the different methods of their redemption.  

bdkbZ&2 

(UNIT—2) 

2- 31 ekpZ] 2020 dks B fy- dk fuefufy[kr ryiV Fkk % 

[kkrksa ds uke 
MsfcV  

¼`½ 

ØsfMV  

¼`½ 

LdU/k 1 vizSy] 2020 dks 7,50,000 — 

Ø; ,oa foØ; 24,50,000 35,00,000 

mRiknd etnwjh  5,00,000  

cêk ¼vigkj½ 70,000 50,000 

osru 75,000 — 

fdjk;k 49,500 — 

lkekU; O;; 1,70,500 — 
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ykHk&gkfu fooj.k i= ¼31 ekpZ] 

2019½ — 1,50,300 

ykHkka’k twu] 2019 esa iznŸk 50,000 — 

vUrfje ykHkka’k vDVwcj] 2019 esa 

iznŸk 40,000 — 

iw¡th ¼10000 lerk va’k] ` 100 

izfr va’k] iw.kZ pqdrk½ — 

10,00,000 

nsunkj ,oa ysunkj 3,75,000 1,75,000 

Iyk.V ,oa e’khujh 2,90,000 — 

gkFk ,oa cSad esa jksdM+ 1,62,000 — 

lap; — 1,55,000 

izca/k lapkyd dks _.k 32,500 — 

Mwcr _.k 15,800 — 

 50,30,300 50,30,300 

vkidks 31 ekpZ] 2020 dks lekIr gksus okys o”kZ dk ykHk&gkfu 

fooj.k i= rFkk mDr frfFk dk fpëk cukuk gSA vkidks 

fuEufyf[kr ds lEcU/k ea vk;kstu Hkh djuk gS % 

(i) 31 ekpZ] 2020 dks LdU/k ` 8,20,000 FkkA 

(ii) e’khujh dks 25% okf”kZd dh nj ls vifyf[kr dhft,A  

(iii) nsunkjkas ij 5% lafnX/k _.kksa ds fy, vk;kstu dhft,A  

(iv) ysunkjksa ij 
1

2 %
2

 ls cëk lafpfr cukb,A 

(v) 31 ekpZ] 2020 dks ,d ekg dk fdjk;k ` 4,500 vnŸk 

FkkA 
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The following is the Trial Balance of B Ltd. as at 31st 

March, 2020 : 

Name of Accounts 
Debit  

(`) 

Credit  

(`) 

Start at 1st April, 2019 7,50,000 — 

Purchases and Sales 24,50,000 35,00,000 

Productive Wages 5,00,000  

Discount  70,000 50,000 

Salary  75,000 — 

Rent  49,500 — 

General Expenses  1,70,500 — 

Statement of Profit & Loss as 

on 31st  March, 2019 — 1,50,300 

Dividend paid in June, 2019 50,000 — 

Interim dividend paid in 

October, 2019 40,000 — 

Capital 10000 equity shares of 

` 100 each fully, paid — 

10,00,000 

Debtor and Creditors  3,75,000 1,75,000 

Plant and Machinery  2,90,000 — 

Cash in hand and at bank  1,62,000 — 

Reserve  — 1,55,000 

Loan to Managing Director  32,500 — 

Bad Debts 15,800 — 

 50,30,300 50,30,300 

You are required to make out the statement of Profit  

& Loss for the year ended 31st March, 2020 and the 
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Balance Sheet as at that date. You are also to make 

provision in respect of the following : 

(i) Stock on 31st March, 2020 ` 8,20,000. 

(ii) Depreciate machinary @ 25% per annum.  

(iii) Provide 5% for doubtful debts on debtors.  

(iv) Make 
1

2 %
2

 reserve on discount on creditors. 

(v) On month’s rent ` 4,500 outstanding on 31st March, 

2020.  

vFkok 

(Or) 

,d ^ifjlekid* dk vfUre fooj.k [kkrk ls D;k vk’k; gS \ 

mueas dkSu&dkSu ls en ‘kkfey fd;s tkrs gSa \ izk:i nsrs gq, 

le>kb,A  

What is meant by a ‘Liquidator’s find a statement of 

Account ? What items are included in it ? Explain giving 

the proforma.  

bdkbZ&3 

(UNIT—3) 

3- vk’kh”k fyfeVsM ds O;olk; ds lEcU/k eas fuEukafdr lwpuk;sa 

miyC/k gSa % 

(i) ykHk 2017&18 eas ` 40,000; 2018-19 esa ` 50,000; 

2019-20 eas ` 60,000A 

(ii) 2018&19 ds ykHk eas ckj&ckj u gksus okyh ` 4,000 dh 

vk; ‘kkfey gSA  

(iii) 2017&18 ds ykHk esa ` 6,000 de gks x;s gSa D;kasfd eky 

vkx ls u”V gks x;k FkkA 
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(iv) eky dk chek ugha djk;k x;k gS] ijUrq Hkfo”; esa blds 

chek djkus dk fopkj gS vkSj chek izhfe; `400 izfr o”kZ 

dk vuqeku gSA  

(v) O;olk; ds Lokeh dk mfpr ikfjJfed ` 6,000 izfr o”kZ 

gS ftls mi;qZDr ykHk fudkyus ds fy, iz;ksx ugha fd;k 

x;k gSA  

(vi) 2119&20 ds ykHk esa ` 5,000 fofu;ksxksa dh vk; ‘kkfey 

gSA  

xr rhu o”kks± ds vkSlr ykHk ds nks o”kZ ds Ø; ds vk/kkj 

ij [;kfr dh x.kuk dhft,A  

Following informations are available about the business 

of Ashish Limited : 

(i) Profit is 2017-18 ` 40,000; in 2018-19 ` 50,000; in 

2019-20 ` 60,000. 

(ii) Non-recurring income of ` 4,000 is included in the 

profit of 2018-19 

(iii) Profits of 2017-18 have been reduced by ` 6,000 

because good were destroyed by fire.  

(iv) Goods have not been insured but it is though to 

insure them in future. The insurance premium is 

estimated at ` 400 per year.  

(v) Reasonable remuneration of the properietor of 

business is ` 6,000 per year, but it has not been 

taken into account for calculation of above 

mentioned profits.  

(vi) Profits of 2019-20 included ` 5,000 income on 

investment. 

Calculate goodwill on the basis of two years 

purchase on the average profit of last three years.  
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vFkok 

(Or) 

fdu ifjfLFkfr;ksa eas fdlh dEiuh ds va’kksa ds ewY; dks fu/kkZfjr 

djuk vko’;d gks tkrk gS \ va’k ds ewY; dks fu/kkZfjr djrs 

le; fdu ckrksa dks /;ku eas j[kk tkrk gS \ 

Under what circumstances does it become necessary to 

determine the value of shares of a company ? What points 

are taken into consideration while determining the value 

of share ? 

bdkbZ&4 

(UNIT—4) 

4- gLrkUrjd vksj gLrkUrjh dEiuh fdls dgrs gSa \ gLrkUrjd 

vkSj gLrkUrjh dEiuh dh iqLrdksa esa dkSu&lh izfof”V;k¡ dh tkrh 

gSa \ 

What is transferor and transferee company ? What 

accounting entries are made in the books of transferor ? 

vFkok 

(Or) 

iw¡th ?kVkus dk D;k vFkZ gS \ blds fy, ys[kk iqLrdksa esa dh 

tkus okyh izfof”V;k¡ nhft,A  

What is meant by reduction of capital ? Give the journal 

entries passed in the books of accounts for the reduction 

of capital.  
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bdkbZ&5 

(UNIT—5) 

5- A fy- vkSj B fy= ds fuEukafdr fpës 31 ekpZ] 2020 dks gS % 

fooj.k 
A Ltd.  

(`) 

B Ltd.  

(`) 

I lerk ,oa nkf;Ro %   

  va’k/kkjh dks”k %   

iwokZf/kdkj va’k 10,000 4,000 

lerk va’k 20,000 30,000 

  lap; ,oa vkf/kD; %   

lap; 4,000 1,000 

ykHk&gkfu fooj.k&vkf/kD; 5,000 5,000 

  pkyw nkf;Ro %   

O;kikfjd ns; 4,000 2,000 

 43,000 42,000 

II lEifŸk;k¡ %   

   lEifŸk;k¡ 9,000 42,000 

   B fy- eas fofu;ksx %   

2250 lerk va’k 30,000 — 

250 iwokZf/kdkj va’k 4,000 — 

 43,000 42,000 

1 vizSy] 2019 va’k Ø; dh rkjh[k dks A fy- }kjk B fy- ds 

ykHk&gkfu esa ` 1,000 dh MsfcV ckdh Fkh vkSj B fy- esa dksbZ 

Hkh lap; ugha FksA lesfdr fpëk cukb,A  
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Following are the Balance Sheets of A ltd. and B Ltd. as 

31st March, 2020 : 

Particulars 
A Ltd.  

(`) 

B Ltd.  

(`) 

I Equity and Liabilities :   

   Shareholder’s Funds   

Preference Cap. ` 10 10,000 4,000 

Equity Cap. ` 10 20,000 30,000 

   Reserve and Surplus :   

Reserve  4,000 1,000 

Statement of Profit & Loss Surplus 5,000 5,000 

   Current Liabilities :   

Trade Payables 4,000 2,000 

 43,000 42,000 

II Assets :   

    Assets  9,000 42,000 

    Investment in B Ltd. :   

2250 Equity Share 30,000 — 

250 Preference Share 4,000 — 

 43,000 42,000 

On 1-4-2019 the data of purchase of shares of B ltd by A 

Ltd. there was debit balance of ` 1,000 in the P & L of B 

Ltd. and reserves of B Ltd. were net. Prepare consolidate 

Balance Sheet.   
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 P. T. O. 

vFkok 

(Or) 

lw=/kkjh dEiuh vkSj lgk;d dEiuh dh ifjHkk”kk nhft,A 

lesfdr fpëk D;k gS vkSj ;g dSls cuk;k tkrk gS \ 

Define Holding Company and Subsidiary Company. 

What is consolidated Balance Sheet and how is it 

prepared ? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ED–2023   



 

 P. T. O.  

Roll No. ...................................  

ED–2024 

B. Com. (Part II) EXAMINATION, 2021 

(Group—I : Compulsory) 

Paper Second 

COMPANY LAW 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- lekesyu izek.ki= D;k gS rFkk lekesyu ds D;k izHkko gksrs  

gSa \ 

What is a certificate of incorporation and what are the 

consequences of incorporation ? 

vFkok 

(Or) 

izorZdksa ls D;k vk’k; gS \ dEiuh ds izorZdksa ds dk;Z] vf/kdkj 

,oa nkf;Roksa dks le>kb,A  
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What do you mean by Promoters ? Explain the functions, 

rights and liabilities of company promoters.  

bdkbZ&2 

(UNIT—2) 

2- ik”kZn varfuZ;e ls vki D;k le>rs gSa \ ;g ik”kZn lhekfu;e 

ls fdl izdkj fHkUu gS \ ;g crkb, fd varfuZ;e esa ifjorZu 

fdl izdkj fd;k tkrk gS \ 

What do you understand by Articles of Association ? 

How does it differ from memorandum of association ? 

State, how articles can be altered ? 

vFkok 

(Or) 

va’kksa ds gLrkarj.k vkSj gLrkadu esa vUrj crkb,A va’kksa ds 

gLrkadu dh D;k fof/k gS \ 

Distinguish between transfer and transmission of shares, 

what is the procedure for transmission of shares ? 

bdkbZ&3 

(UNIT—3) 

3- _.ki= ls vki D;k le>rs gSa \ ;s fdrus izdkj ds gksrs gSa \ 

le>kb,A  

What do you understand by Debenture ? What are its 

kinds ? Explain.  

vFkok 

(Or) 

,d daiuh ds lapkyd ds vf/kdkjksa ,oa drZO;ka s dk o.kZu 

dhft,A  

Describe the powers and duties of directors of a company.  
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bdkbZ&4 

(UNIT—4) 

4- oS/kkfud lHkk ls vki D;k le>rs gSa \ oS/kkfud lHkk ds lEcU/k 

esa lfpo ds drZO; o vf/kdkj fyf[k,A  

What do you mean by Statutory Meeting ? Write the 

duties and rights of secretary in connection with statutory 

meeting.  

vFkok 

(Or) 

izfriq#”k ls vki D;k le>rs gSa \ izfriq#”k }kjk ernku ds 

lEcU/k esa D;k izko/kku gSa \ 

What do you understand by a Proxy ? What are the legal 

provisions in respect on voting by a proxy ? 

bdkbZ&5 

(UNIT—5) 

5- dEiuh esa vU;k; ,oa dqizca/k dks jksdus gsrq dEiuh vf/kfu;e esa 

fn, x, izko/kkuksa dk o.kZu dhft,A  

Describe the provisions of Company Act for the 

prevention of oppression and mismanagement.  

vFkok 

(Or) 

lekiu esa ljdkjh lekid dh D;k ‘kfDr;k¡ vkSj drZO; gSa \ 

What are the powers and duties of official liquidator in 

winding up ? 
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ED-2025

B.Com. (Part–II) 

EXAMINATION, 2020
Group–II : Compulsory)

Paper First

COST ACCOUNTING 

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. ¼v½ ykxr ys[kkadu dh fdUgha pkj i)fr;ksa dh laf{kIr esa foospuk
dhft,A 7.5 +7.5

Discuss in brief any four methods of  Cost

Accounting.

¼c½ lkexzh dh fujUrj vkx.ku iz.kkyh dh foospuk dhft,A

Discuss Perpetual Inventory system of materials.

vFkok 
OR

fuEufyf[kr fooj.k ls tuojh 2017 ekg dk Hkkj;qDr vkSlr
ewY; i)fr ls lkexzh dk fuxZeu ewY; fn[kkrs gq, LVkslZ [kkrk
cukb,A 15

From the following information prepare Stores

Ledger Account. Showing the issue price of materials 

on the basis of weighted Average Price Method for

the month of January :

tu- Jan 1 1 izkjafHkd Lda/k 50 bdkbZ nj 30 ` iizzfr bdkbZ

 Opening Stock 50 Units @ ` 30 per unit

tu- Jan 5 fuxZeu 2 bdkbZ 

 Issued 2 Units 

tu- Jan 7   Ø; 48 bdkb;k¡ nj 40 ` iizzfr bdkbZ

 Purchased 48  Units @ ` 40 per unit

tu- Jan 9   fuxZeu 48 bdkb;k¡

Issued 48 Units 

tu- Jan 19  Ø; 76 bdkb;k¡ nj 30 ` iizzfr bdkbZ

Purchased 76  Units @ ` 30 per unit

tu- Jan 24 9 tuojh ds fuxZfer bdkb;ksa esa ls 19 bdkb;k¡

 LVkslZ ls okil izkIr gqbZ

ED-2025 [ 2 ]
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Received back in stores 19 units out of the

units issued on 9th January

tu- Jan 27  fuxZeu 10 bdkb;k¡

Issued 10 Units 

tu- Jan 29  dks LVkWd fujh{k.k ds nkSjku lkexzh dh 02

bdkb;k¡ de ik;h x;hA

2 Units of materials loss  was revealed on

January 29 during stock verification.

bdkbZ–2

 Unit–2

2. cSrwy oqM dEiuh ds nks lsok foHkkx gSa ftuls lEcfU/kr
mifjO;;ksa dk ;ksx 6000 #i;s ,oa 4000 #i;s gS ftudk
foHkktu vxzkafdr rkfydk esa fn;s x;s vUr% lsok foHkxh;
izfr'kr vk/kkj ij dhft,A
ABC mRiknu foHkkxksa ds dqy mifjO;;ksa dh x.kuk dhft,µ
;g eku yhft, fd foHkktu ds iwoZ foHkkx A, B ,oa C  dk
;ksx Øe'k% 8000 #i;s] 9000 #i;s ,oa 7000 #i;s gSA 
Betul Wood Company has two service Departments

with respective totals of Rs. 6000 and Rs. 4000 at

overhead to be apportioned on inter-service

departmental basis of percentage given in the chart :

Find out Compute the total overhead of production

department A, B and C assuming the totals of

production department A, B and C being Rs. 8000,

Rs. 9000 and Rs. 7000 respectively  before

distribution.

foHkkx mRiknu foHkkx lsok foHkkx

Department Production Department Service
Department

A B C P Q

P 30% 40% 20% – 10%

Q 30% 30% 20% 20% –

mifjO;;
¼#0½ 8,000 9,000 7,000 6,000 4,000

Overheads
(Rs.)

vFkok 
OR

¼v½ izR;{k ,oa vizR;{k Je dks le>kb;sA 7.5

Explain Direct and Indirect labour.

¼c½ e'khu ?k.Vk nj dSls fu/kkZfjr dh tkrh gS \ 7.5

How Machine Hour Rate is determined ?

bdkbZ–3

 Unit–3

3. XYZ fyfeVsM us fdlh oLrq dh 4000 bdkb;ksa ds mRiknu
djus dks vuqcU/k fd;k gS rFkk fuEufyf[kr lwpuk,¡ miyC/k
gSµ
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XYZ Limited has undertaken a contract for the

manufacture of 4000 units and the following

information have been obtained :

lkexzh ykxr (Ma te ri als  Cost) ` 30 izfr bdkbZ (Per unit)

izR;{k etnwjh ` 25 izfr bdkbZ (Di rect Wages ` 25 Per unit)

foØ; ewY; ` 75 izfr bdkbZ (Sell ing Price ` 75 Per unit)

mifjO;; izHkkj esa 'kkfey gS ¼v½ fLFkj O;; ` 30000 

¼c½ ifjorZu'khy O;;  ` 18000 ¼l½ v)ZifjorZu'khy O;;

(50% fLFkj)  ` 12000

(1) izfr bdkbZ ykHk dh x.uk dhft,A

(2) izfr bdkbZ ykHk D;k gksxk ;fn 5000 bdkb;k¡ fufeZr dh tkrh

gSaA

dqy fLFkj mifjO;; izHkkj izR;sd Lrj ij vifjofrZr jgrh gSA

The overhead charges consist of (A) Fixed expenses   

` 30000 (B) Variable expenses  ` 18000 (C) Semi

Variable expenses (of which 50% is fixed  ` 12000.

(1) Calculate the profit per unit.

(2) What would be the Profit per unit.

If the number of produced articles are 5000 units. The 

total fixed overhead charges remain unchanged at all

levels.

vFkok 
OR

Bsdk [kkrk rS;kj djrs le; vki fdu&fdu egÙoiw.kZ fcUnqvksa
dks /;ku esa j[kksxs \ pkyw dk;Z ¼fØ;kek.k dk;Z½ dh x.kuk Bsds
[kkrs esa fdl izdkj dh tkrh gS \ ;g fpV~Bs esa fdl izdkj
fn[kk;k tkrk gS \ le>kb;sA 
What important points should be kept in mind in

preparation of Contract Account ? How is

work-in-progress calculated in contract Account ?

How is it shown in the Balance Sheet Explain ?

bdkbZ–4

 Unit–4

4. ,d fuekZ.kh m|ksx dk mRiknu nks izfØ;kvksa ls xqtj dj fufeZr 
eky dh Js.kh esa igq¡prk gS fiNys  vuqHko ls ;g irk pyrk gS
fd izfØ;kvksa esa {k; bl izdkj gksrk gSµ
izfØ;k M esa izfo"V bdkb;ksa dk 5%

izfØ;k N esa izfo"V bdkb;ksa dk 10%

izfØ;k M ds {k; dk vof'k"V va'k dk foØ; ewY; 8 #i;s
izfr 100 bdkbZ gS ,oa izfØ;k N esa foØ; ewY; 10 #i;s izfr
100 bdkbZ gSA
A Manufacturing Company’s product passes through 

two district process, then to finished stock. It is

known from Past experience that westage occruing in 

the process is as under : 

In process M 5% of the units entering the process.

In process N 10% of the units entering the process.
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The scrap sales value of the wastage in the process M

is Rs. 8 per  100 units and in process N is Rs. 10 per

100 units.

izfØ;k lEcU/kh vU; tkudkjh bl izdkj Fkhµ
The Process figures were :

izfØ;k M izfØ;k N
Process M Process N

` `

lkexzh iz;qDr 2,000 1,600

(Material Consumed)

etnwjh 2,400 2,000

(Wages)

vU; O;; 1,000 1,000

(Other Expenses)

izfØ;k M ds 600 #i;s dh ykxr ls 1200 bdkb;k¡ iz;qDr gqbZA 
mRiknu bl izdkj jgkµ
izfØ;k M esa 1100 bdkb;k¡ rFkk
izfØ;k N esa 950 bdkb;k¡
izfØ;k [kkrs ,oa vlkekU; {k; [kkrk cukb,A
1200 Units were brought into process M costing Rs.

600. The output were :

Process M 1100 Units

Process N 950 Units.

Prepare Process Accounts and Abnormal Loss

(Wastage) Account. 

vFkok 

OR

fVIif.k;k¡ fyf[k,µ¼dksbZ rhu½
Write short notes : (any three) 5×3=15

(1) ykWx cqd Log Book

(2) ifj'kq) Vu fdyksehVj ,oa okf.kfT;d Vu fdyksehVjA
(3) ifjpkyu ykxr ys[kkadu esa ykxr dk oxhZdj.k

Clas si fi ca tion of Cost in Op er at ing Cost.

(4) ifjpkyu ykxr ys[kkadu esa ykxr bdkbZA

bdkbZ–5

 Unit–5

5. ¼v½ ,sls vk; dh enksa dks crkb, tks ykxr ys[kk esa 'kkfey ugha
fd;s tkrs \ 7.5

Give such income items which are not shown in Cost

Account ?

¼c½ xSj ,dhÑr ys[kkadu D;k gS \ le>kb;sA 7.5

What is Non integrated system of Accounting  ?

Explain.

vFkok 

OR

fuEu vk¡dM+ksa ls x.uk dhft,µ 15

Calculate from the following data :

(1) ykHk ek=kk vuqikrA
(Profit Volume Ratio)
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(2) ykHk tc fcØh 8000 ̀  gksA
(Profit when sales in  ` 80,000)

(3) tc foØ; ewY; 20% de dj fn;k tk;s rks u;k lefoPNsn
fcUnq A
New Break Even Point when sales price is  reduced

by 20% .

fLFkj O;; Fixed Cost ` 20,000

le foPNsn fcUnq Break Even Point ` 50,000
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ED–2026 

B. Com. (Part II) EXAMINATION, 2021 

(Group—II : Compulsory) 

Paper Second 

PRINCIPLES OF BUSINESS MANAGEMENT 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- izcU/k fdls dgrs gSa \ izcU/k ds izeq[k dk;ks± dh foospuk 

dhft,A  

What do you meant by Management ? Discuss main 

functions of management.  

vFkok 

(Or) 

oSKkfud izcU/k D;k gS \ izcU/k ds {ks= eas ^Vsyj* ds ;ksxnku dks 

crkb,A  
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What is Scientific Management ? Describe the 

contribution of ‘Taylor’ in the field of management.  

bdkbZ&2 

(UNIT—2) 

2- fu;kstu ds izeq[k mís’; D;k gSa \ fu;kstu dh izHkkoh rduhd 

dks crkb,A  

What are the objectives of Planning ? State the techniques 

of planning.  

vFkok 

(Or) 

fuEufyf[kr dks le>kb, % 

¼v½ fuxeh; fu;kstu 

¼c½ i;kZoj.k fo’ys”k.k  

Explain the following : 

(a) Corporate Planning  

(b) Environment Analysis  

bdkbZ&3 

(UNIT—3) 

3- laxBu fdls dgrs gSa \ laxBu dk egRo crkb,A  

What is Organisation ? Discuss the importance of 

organisation.  

vFkok 

(Or) 

fodsUnzhdj.k fdls dgrs gSa \ fodsUnzhdj.k ds ykHk&nks”kksa dks 

crkb,A  

What do you mean by Decentralisation ? Describe merits 

and demerits of decentralisation.  
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bdkbZ&4 

(UNIT—4) 

4- vfHkizsj.kk D;k gksrh gS \ ekSfnzd ,oa vekSfnzd vfHkizsj.kkvksa dks 

crkb,A  

What is Motivation? Discuss monetary and non monetary 

motivations.  

vFkok 

(Or) 

izHkkoh lUns’kokgu dh izeq[k ckrsa D;k gS \ lEizs”k.k dh ck/kkvksa 

dks crkb,A  

What are the main contains of Effective Communication ? 

Discuss barriers of communication.  

bdkbZ&5 

(UNIT—5) 

5- fu;a=.k dks ifjHkkf”kr dhft,A ,d fuekZ.k dh laLFkku ds fy, 

fu;a=.k dk D;k egRo gS \ 

Define Control. What is the importance of control for a 

manufacturing institute ? 

vFkok 

(Or) 

ifjorZu dk izcU/k ls vki D;k le>rs gSa \ ifjorZu dh izd`fr 

D;k gksrh gS \ izcU/k esa ifjorZu ds izdkjksa dks le>kb,A  

What do you understand by Management of Change ? 

What is the nature of change ? Describe the types of 

changes in management.  
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ED–2028 

B. Com. (Part II) EXAMINATION, 2021 

(Group—III : Compulsory) 

Paper Second 

FUNDAMENTALS OF ENTREPRENEURSHIP 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- ßm|ferk tksf[ke mBkus rFkk uokpkj ;ksX;rk ds lkFk&lkFk 

O;wgjpukRed ykHk izkIr djus dh ;ksX;rk gSAÞ bl dFku dks 

Li”V dhft, rFkk m|ferk ds egRo dh foospukd fht,A  

“Entrepreneurship is a risk-bearing innovate ability as 

well as strategic advantage ability.” Explain this statement 

and discuss its importance.  

vFkok 

(Or) 

m|eh dh vk/kqfud vo/kkj.kk D;k gS \ Li”V dhft,A  

What is the modern concept of Entrepreneur ? Discuss.  
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bdkbZ&2 

(UNIT—2) 

2- fdlh uohu bdkbZ dh LFkkiuk ds fy, m|eh dks dkSu&dkSu&lh 

oS/kkfud vko’;drk,¡ iwjh djuh iM+rh gSa \ 

What legal requirements are to be completed by an 

entrepreneur for establishment of a new unit ? 

vFkok 

(Or) 

dks”kksa dks tqVkus ls D;k vk’k; gS \ dks”kksa dh vko’;drkvksa dk 

vuqeku yxkus dh vko’;drk D;ksa gS \ 

What is meant by raising of funds  ? Why there is need of 

estimating funds requirements ? 

bdkbZ&3 

(UNIT—3) 

3- m|ferk O;ogkj dh O;k[;k dhft,A m|eh; O;fDrRo dks 

izHkkfor djus okys euksoSKkfud y{k.kksa dh O;k[;kdhft,A  

Describe entrepreneurial behaviour. Explain the 

psychological factors to effect the entrepreneurial 

personality.  

vFkok 

(Or) 

uokpkj rFkk m|eh ls vki D;k le>rs gSa \ bu nksuksa ds e/; 

D;k lEcU/k gS \ Li”V dhft,A  

What do you understand by innovation and entrepreneur ? 

What is the relationship between them ? Explain.  
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bdkbZ&4 

(UNIT—4) 

4- Hkkjr esa m|ferk dks izksRlkfgr djus gsrq ljdkj }kjk iznku dh 

xbZ izsj.kkvksa ,oa lgk;rk dk o.kZu dhft,A  

Describe the incentives and assistance provided by the 

government of encourage entrepreneurship in India.  

vFkok 

(Or) 

ßm|ferk fodkl esa ftyk m|ksx dssUnz dh vge Hkwfedk gSAÞ 

bl dFku dks Li”V dhft,A  

“District industry centre has an important role in 

entrepreneurship development.” Explain this statement.  

bdkbZ&5 

(UNIT—5) 

5- fu;fr lao)Zu rFkk vk;kr izfrLFkkiu esa m|eh ds ;ksxnku dk 

o.kZu dhft,A  

Describe the role of entrepreneurs in export promotion 

and import substitution.  

vFkok 

(Or) 

uokpkjd ds :i esa ns’k ds vkfFkZd fodkl esa m|eh dh Hkwfedk 

dk foospuk dhft,A  

Discuss the role of entrepreneur as an innovator in 

economic growth of country.  
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ED–2030 

B. Com. (Part II) EXAMINATION, 2021 

COMPUTER APPLICATION  

Paper Second 

(Relational Database Management System) 

Time : Three Hours 

Maximum Marks : 50 

Note : Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

Unit—I 

1. Explain E-R diagram with example. 

Or 

Write short notes on the following : 

(i) Specialization  

(ii) Aggregation  

Unit—II 

2. Describe extended relational algebra operations.  

Or 

Explain 1NF and 2NF with example.  
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Unit—III 

3. What is the Normalization ? Explain their types.  

Or 

Write short notes on the following : 

(i) Denormalization 

(ii) Good and bad decompositions   

Unit—IV 

4. Explain data manipulations language commands with 

example.  

Or 

What is the View ? Explain in detail.  

Unit—V 

5. What is the Triggers in PL/SQL ? Explain with example.  

Or 

Write short notes on the following : 

(i) Variable and Constant  

(ii) Exception Handling  

 

 

 

 

 

 

 

 

ED–2030   


